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TO1-FM109_tot TIME EVOLUTION [Reference=PiBinc] statistics for Pedestal Position [Gain index 5]
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T01-FM109_tot TIME EVOLUTION [Reference=PiBinc] for Pedestal FWHM [Gain index 5, LEX8]
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[TO1-FM109_tot Test 1]

[PiBinc] 060715202626_FM109_calf mu_trend.csv [ 28.7C]
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[TO1-FM109_tot Test 1]

[CERN060726] 060727073044 _FM109_calf_mu_trend.csv [ 24.7C]
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[TO1-FM109_tot Test 1]

[CERN060905] 060905205100_FM109_calf_mu_trend.csv [ 24.6C]
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[PiBinc] 060715202641_FM109_calf_shp_p01.csv [ 28.7C]

[Pilinc] 060722145853_FM109_calf_shp_p01.csv [ 24.6C]

[CERN060726] 060727073108_FM109_calf_shp_p01.csv [ 24.7C]

[CERN060905] 060905205124 FM109_calf_shp_p01.csv [ 24.6C]
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[TO1-FM109_tot Test 2]

[PiBinc] 060715202641 _FM109_calf_shp_pO01.csv [ 28.7C]




T01-FM109_tot PiBinc TACK Delay [Gain index 5]
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[TO1-FM109_tot Test 2]

[Pilinc] 060722145853 _FM109_calf_shp_p01.csv [ 24.6C]




T01-FM109_tot Pilinc TACK Delay [Gain index 5]
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[TO1-FM109_tot Test 2]

[CERN060726] 060727073108_FM109_calf_shp_pO01.csv [ 24.7C]




T01-FM109_tot CERN060726 TACK Delay [Gain index 5]
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[TO1-FM109_tot Test 2]

[CERN060905] 060905205124 _FM109_calf_shp_p01.csv [ 24.6C]




T01-FM109_tot CERN060905 TACK Delay [Gain index 5]
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[TO1-FM109_tot Test 3]

[PiBinc] 060715201413_FM109_calf_gain_p01.csv [ 28.7C]

[Pilinc] 060722144625_FM109_calf_gain_p01.csv [ 24.3C]

[CERN060726] 060727071820_FM109_calf_gain_p01.csv [ 24.6C]

[CERN060905] 060905203731_FM109_calf_gain_p01.csv [ 24.4C]




TO1-FM109_tot TIME EVOLUTION [Reference=PiBinc] for LOWEST Relative Gain [Gain index 5, LEX8]
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o TO1-FM109_tot TIME EVOLUTION [Reference=PiBinc] for LOWEST Relative Gain [Gain index 5, LEX1]
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o T01-FM109_tot TIME EVOLUTION [Reference=PiBinc] for LOWEST Relative Gain [Gain index 5, HEX8]
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ROw 2 T01-FM109_tot TIME EVOLUTION [Reference=PiBinc] for LOWEST Relative Gain [Gain index 5, HEX1]
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T01-FM109_tot TIME EVOLUTION [Reference=PiBinc] statistics for LOWEST Relative Gain [Gain index 5]
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T01-FM109_tot TIME EVOLUTION [Reference=PiBinc] for HHGHEST Relative Gain [Gain index 5, LEX8]
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T01-FM109_tot TIME EVOLUTION [Reference=PiBinc] for HHGHEST Relative Gain [Gain index 5, LEX1]
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TO1-FM109_tot TIME EVOLUTION [Reference=PiBinc] statistics for HHGHEST Relative Gain [Gain index 5]
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[TO1-FM109_tot Test 3]

[PiBinc] 060715201413_FM109_calf_gain_p01.csv [ 28.7C]
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[TO1-FM109_tot Test 3]

[Pilinc] 060722144625 _FM109_calf_gain_p01.csv [ 24.3C]
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[TO1-FM109_tot Test 3]

[CERN060726] 060727071820 FM109 calf gain_p01.csv [ 24.6C]
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[CERN060905] 060905203731_FM109_calf _gain_p01.csv [ 24.4C]
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